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2) 9= 18 wrptEn Y
Mzl (&) 24l () 4 (&) SHH 2
E = 7 A ool &
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© BN L HIEZA - -
~ KB XIS Sy - -
-BS Tl 2 ®DEI|EY SOHA - -
~E I B A} Tl AER(SAD1)| Al 1 - 500,000 500,000 500,000
-=J|= mole SJ &Y m2 60 - 3,000 180,000 180,000

EN A 180,000 500,000 680,000
° BEZA - -
-1SAotefmor = @31.8%1.5%x12M = 81 20,280 1,642,680 1,642,680
-2 Motefmor = @25.4%1.5x10M = 41 13,000 533,000 533,000
-AIteH=01E N 122 1,000 122,000 122,000
—XI=OHIHOI = @31.8%1.5%x1M H 162 2,200 356,400 356,400
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g = A2 |ef|s 2 ¢ )goﬁH
* X ¥ HIEHBA -
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—HHE S 2 HOSI1HY SHHg -
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-=J|= mole SJ &Y m2 60 - 180,000
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- BESM -
-1SAotefmor = @31.8%1.5%x12M = 81 ,642,680
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-AIteH=01E N 122 122,000
-A=0oore @31.8%1.5%x1M H 162 356,400
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-1=0t2el ool = @31.8%1.5x10M o 7 118,300
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